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NER, MEBOER
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$ ssh-keygen

Enter file in which to save the key (/Users/shirahata/.ssh/id_rsa):
Return

Enter passphrase (empty for no passphrase):
NEEDAART—FEAHD
Enter same passphrase again:
£5—ERIC/NRT—FEAA
lid_rsalMFZRHE, Tid_rsa.pub ] AAABHARIZH S,
TSUBAME (D 43 I $2 OD & %
RIAKR—4AJL ->TSUBAME2.0 FIRR—F)L -> SSHARSET Yy TO—k
NRAREERL7YTO—F(ERL-ARS id_rsapub 7y 7O—F)
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» add $A, $B, $C add $t0, S$tl, $t2
$A <- $B + $C addi $t0, $tl1, 4

» addi $A, $B, HfiE sub $t0, St1, $t2

addi $t0, $tl1l, -16
BMiE o] & (add immediate)
LORAIMNRIEICERZNE
$A <- $B + #E
» sub $A, $B, $C
$A <- $B - $C
» subild (DY
addiCTHIEICEDEZIETE
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Int Regs [16]

(5 ) x

PC
EPC
Cause

woooo

» CPURNERDECIEERF Bedvader =g

MIPSTCIE32A4

HI

RO [r0)] =
R1 [at] =
R2 [v0)] =
R3 ([v1] =
R¢ [a0] =
RS [al] =
R6 [a2]) = 7ffffe2s
R7 [a3] =0
(401
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Lo R A5

$a0 ~ $a3

HITIL—Fo D5 #HEAND

$v0 ~ $v1

HIIL—FUDBRYEMNAS

$t0 ~ $t9

—RER(BEAICEZD)

$ra

(AM)IIV—FUDbRATFLRAZRE

$zero

E SEO
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beq, bne, blt, ble, bgt, bge
» HLERAR S

slt, slti
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J:
4 j label .asciiz "Jump\n"
NJ:
= A AN AN SS N >
INILDaR TN D .asciiz "Not Jump\n"
text
main:
jjump
li $v0, 4
j next la $a0, NJ
. syscall % label D& #
. jr $ra [<RBR%<,
jumpdar KA
next: UHEhBET
jump: RDOGHHEL
: i $v0,4 [ TR
la $a0, J
syscall
jr $ra

| Jump '
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» jr SA
L AA $SA DIEDIET
TRLRIZOv T
#5l: 9yr $ra

m4.s

la $t0, next
jr $t0

next:

.data

.asciiz "Jump\n"
NJ:
.asciiz "Not Jump\n"

text

main:
la $t0, jump
jr $t0

li $vO0, 4
la $a0, NJ
syscall
jr $ra

jump:

li $vO0, 4
la $a0, J
syscall

jr $ra

Jump .
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» beq SA, $B, label
branch on equal
$A == $B ELINILIZDY T
» bne S$SA, $B, label

branch on not equal
$A 1= $B IR INIITDY T

beq $t0, $tl, Label

Label:




if (x '= 0)
y = 1;
else
y = 2;
bne $t0, $zero, then # if (x!=0) goto then
1li s$tl, 2 #y=2
J end
then:
1li s$tl, 1 #y=1
end.:

($t0I=x, St1ZyMEE LT B)



while XD FEH

y++;

}

while (x '= vy) {

while (true) {
if (x==y) break;
y++;

while:

J

end:

beqgq $t0, $tl, end #if(x==y)gotoend
addi $t1, S$t1, 1 #y++

while

($t0I=x, $t1yMEE LT B)
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» slt $A, $B, S$C

set less than

$B<$C 735 $A= ;D2 THEITNIL $A =0
» slti $A, $B, HE

set less than immediate

$B < BE 755 $A = ; EOTRITNIL $A=0
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»

»

blt $A, $B, label $A < $B il
ble $A, $B, label $A <= $B G577 I
bgt $A, $B, label $A > $B 735575
bge $A, $B, label $A >= $B i

(less than, less than equal, greater than, greater than equal)

b (=YEe 3 DR

slt, beq, bne DA EHE TEIHTES (FH)
Fmove $A, $B1HHE Ll an T

add A, B, $zero
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» J—KDESI

word T —F (4 byte) DEEZ data
FHTES N
MIPSTIZ. | T—R(EE) = 4/3 Ak = 32E wk '
Ak = 8B .word 1 2 3
ERA[L] [SIETFLR FELR A€y EHER
A+i*4 O IG 0x00000000

J—KRELMTT—2IE BN
Y AN A NI A JAC S A+0 1 A[0]
HATRE A+4 2 A[1]

A+8 3 A[2]

Oxffffffff




AEBRYT 72 AGH

» Iw $A, X($B)
$A = AE![X + $B]
$A, $B: LU RR . X:TEE (SR ILor$lF)
AR EDTRLATX+$BIMSIEES
| T—R@N\A1NDT—3%

LS RASAIZERET B $s1 T1]_1 byte
{5l :lw $t0, 8($sl) < 1byte
$sIMRTTRLAMB2T—F S 1 ovie
FDT—R2(1T—F7)Z$0IZFAD yRE

1 1 byte

s 1 byte

» sw $A, X($B) g_ 153:2
AE[X+$B] = $A $s1 +8 T 1byte
$A, $B: L RA . X:EH (SR ILor$lF) g 1 Igv:e
LOXRSADIE (17 —F)% = yte
;4=E'JJ:0)7I~“I/£‘<FX+$BJI:$£5$T%> | 1byte

Bl:sw $t0,8($s!)
$sIDRTTRLAMNG2T—FEDT—2(1T7—FD)IZ$ODELXEZEZAL
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» EESIADIEZRTI S

pA=L A NN

m>S.s

.data
.word123
text

la $t0, A

li $v0, 1

Iw $a0, 0($t0)
syscall

la $t0, A

li $v0, 1

Iw $a0, 4($t0)
syscall

li $t0, 8
li $v0, 1
Iw $a0, A($t0)
syscall

jr $ra

123
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» skEFALVTbtZEREH &
[blt $sl, $s2, label IZ X HKIZ, —BFL R A2ELTHO0Z{FEHC
&

btz RELI-O—k¥hZzLAR—r iR L. TDFEHRZT S
_&

EER
BWVa—FTaEldsn=oDIELLY,



ARRE2: 2D DEIHDFELZ D

» CNL2DDESHD i BEHEI- i BEHODERESLEZZEL

BEHhE.RKRTREL

» wordéEL T 2DDEHEESE
A={1,234}
B={5,6,7,8)

» EER
A[O] + B[3], A[I] + B[2], A[2] + B[I], A[3] + B[0]
I—TNEBTREESTLHILE
syscallzf>TaAY—I)LIZEKRTRT S &

9999
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» BESID RN KIEZH AT Ha—FEh T
» #ERZEsyscallZz{F->Tary—ILICH DT EHE

» UTDEOILTEINZEERE
A={278139)}
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A2 ZRAE3

.data .data
A A:

.word 1234 .word 278139
B:

.word 5678 text

main:

text R KIEZH S

main:

#MZERT
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